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1 —BEEsR ()

R AOF REEKE
1 #& 5,100 M
2 #& 6,500 M
3 & 8,500 A, f<fL.1 S 8,271 H
4 & 9,700 M
5 & 10,200 [
6 & 10,800 M
7 #& 11,200 [
8 #& 11,800 [
9 #& 12,800 M
10 #& 13,500 M
11 #% 15,400 [

A —EEELR (D)

B 0k REEKXE
1 #& 5900 M, =L.2 5% 5409 .35 5575 .4 5
5,746 M
2 #& 7,400 A
3 & 8,000 M
4 ¥k 8,600 M
5 #& 9,100 A

6 #& 10,200 M



N BEBERE
B 75 & REEKE
1 #& 9400 M. f~fL.2 5 & 7213 .35 7569 M .4 5% 8023 M.
551 8505M.6 5 8851 H.75# 9,180

2 & 11,000 H,7/~~L.25#E 9099 .3 5% 9,490MH .45 9,891 0,
55 # 10,318 .6 5 10,741 M

3k 12600 ., ==L.1 5% 11,335 .2 54 11,916 A .3 5 & 12,487
M

4 & 13,500 @, =L. 1 B 12816 A.2 S 13,482 A
5 #& 16,100 M

- ERBEHR()

B 7% D& REEKXE
1 #& 6,100 M
2 & 8,000 A, ffL.2 5 7,924 A
3 #& 9,600 H,7f<L.1 5 9,211 M .2 5 9,531 [
4 & 10,200 [
5 & 11,100 [
6 & 11,900 [
7 #& 13,000 [
8 #& 14,800 [

® BERBHBR ()

B 75 & REEKXE

1 #& 8000 H,.=L.2 5% 6817TH.3 54 7,060 .4 5
7,330 .55 7,609 .6 S 7,974 H

2 #& 9900 H,7=L.2 5% 8023 .35 8401 .45
8820 .55 9072 .6 5% 9337 .7 5 9,603 M

3 #& 10,200 A, 7=f=L. 1 &5 {& 9,909 A

4 ¥k 10,600 [

5 #& 11,000 [

6 #& 12,400 M

7 %% 13,300 M



